INDIAN SCHOOL MUSCAT

SECOND PRE- BOARD EXAMINATION
FEBRUARY 2020 SET A
CLASS X
Marking Scheme - MATHEMATICS
Q.NO. SECTION -A MARKS
SET-A SET-B SET-C
1. | (C) No solution (C)30-40 (D) No solution 1
2. | (A) 2 units (B) 30° (C) 2 units 1
3. 1(C)30-40 (A) (0,0) (A) 30 - 40 1
4. | (C) 19000 (B) 24° (D) 19000 1
5. 1(CQ) (7,3 (B) 3/4 (A) (7,3) 1
6. | (B)30° (C) 19000 (A) 30° 1
7. | (B) 3/4 (©) (7,3 (D) 3/4 1
8. [ (A) (0,0 (C) No solution (D) (0,0) 1
9. [(B) 24° (D) Four (B) 24° 1
10. | (D) Four (A) 2 units (D) Four 1
11. | 2/3nr* OR 1/12znh? 5:8 5:8 1
12. | () x*—x—12 OR (ii) 3 7/8 () x*-x—-120R ()3 |1
13. [ 5:8 5 23nr® OR 1/12rh? 1
14. |5 2/3 nr® OR 1/12rh® 7/8 1
15. | 7/8 (i) x*-x—120R ()3 |5 1
16. | 2.7cm 20 LCM = a’b? 1
17. | (i))42cm  OR(ii)4cm LCM = ab? 2.7cm 1
18. | b?—4ac =-3<0, No real roots | 2.7 cm b?—4ac=-3<0,No Yo + Y
19. | LCM = a°b? b?—4ac=-3<0,No (i)42cm  OR (ii) 4 1
20. | 20 (Y42cm  OR(ii) 4 20 1
Q.NO. Answers Marks
(with split
up)
SECTION B:
21. | Tany =10/ AE 7]
= AE=40m 7]
Tanx=CE/AE
=>CE=100m %
SoCD=110m )
22. | (i) Total cards =52 -8 = 44 1
Probability = 2/44 = 1/22 1
OR
(i) total = 46 1
Probability = 5/46 1
23.| TSA =14 a2 1
=350 cm? 1
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24. | Fig 1
ZAPO = 30° 1%
AP =3cm Yo
25.|a=184 Ya
d=-3 Ya
az =166 1
26. | (i) Fig. Ya
ZA=./C 1
ZAEB = ZCBE Y2
AABE ~ ACFB &
OR
(i) Fig. 1
Distance between tops = 13 m 1
SECTION C:
27. | (i) 4 cot? 45° - sec® 60° + sin? 60° + cos? 90° Yo + Yot Yo
= (4x1)- @7+ (D7 +0=% OR thtl
(ii). , 1
12 sing 1 Y A cosf 1)
l cosf coso ) sin@ sing) v,
‘ COS“C;.::: 0+1 ; Slm’s"lcf:j” 1.; (By taking LCM and multiplying)
(sind+ cosd) —(1) Yo
! — ~ (Using & - b =(a+ b)(a- b))
sindoosé 1
sin’ @+ cos’ @+ 2sin@oosd -1 /2
- sin#oos
1+ ?,?IHI)UBU -1 (Using identify sin® @ + cos® A= 1)
sinf/cos&
2sinficosd 1y
sint/cos ¢
28.| (i) HCF =4 OR 1+1+1
(i)
Let a be any positive integerand b =3
Then a = 3q + r for some integer q = 0 Yo
Andr=0,1,2because 0 <r<3
Therefore,a=3qor3q+ 1or3q+ 2 1
Or,
a’ =(3q) or(3q +1) or(3q +2)’ "
a“=(9q°)or9q° +6q+10r 9g° +12q+4
=3x(3q" )or(3q’ +2q)+10r3(3q" +4q +1)+1
= 3K, or 3k, +1 or 3k, +1 1
29. | Finding Mid values Ya
Calculating u 1
Calculating fu Ya
Calculating Xfu 1
Formula Ya
p=10 Vs
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30. | length of arc =22 cm 1%
Ar (sector) = 231 cm? 1%
31. | g(x) =x*>—5/3 Ya
qx) =x®+2x +1 1%
=(x+1)? Y
5 5
-~ Zeroes are -1, -1, /5 and — /5 . 1
32. ]2 +3d=7 1
a+8d=17 Ya
4=2.221.519 = 100 Yo+l + Vs
33.|P---(4,6) Y
Q--(3,2) 2
R --- (6, 5) 1
Ar (PQR) = 9/2 1%
34. 1 (i)
Infinite number of sol.
a h_a
a b oo
2 3 7 1
or = =
a+b+1 a+2b+2 da+4b+1
2 _ 3
a+bh+l a+2b+2
= a=b=1 1
andif ——> = !
a+2b+2 4da+4b+1 1
= S5a-2b=11
on solving we get,
a=3and b =2 1
OR
(ii) Father’s present age =X yrs } Y
Son’s present age =y yrs 1
X = BY -----m-m-m-m- (1) Yo
X —4y = 12-----mmmmmeme- (2)
Solving (1) and (2) 1
X =36 yrs andy =6 yrs
SECTION D:
35. Less than cf
Less than ogive 1%
More than cf
More than ogive 1%
Median 1
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36.

(i)Construction of AABC

Construction of each parallel lines
Shading similar triangle
OR

(ii) Construction of circle
Construction of PQ
Construction of tangents from P
Construction of tangents from Q

37.

(i) AAEY ~ AADC (AA ~)
r h l

R H L
AE:ED=1:

=>H=3h

=>R=3r ‘

1 2
Vol of cone AXY 3 TT h 1

Vol of cone ABC % TRZH - 27 B
Vol of upper cone : vol of frustum = 1: 26

2

OR

(if) Volume of embankment = volume of
well

=>m(R?> —r®)h=nr?H

=>h=04m

.......

ig. ¥

1%

1%
Yo

[HEN

38.

Given, To prove, Figure
Construction
Proof

1%
Yo

39.

Fig .ﬂ
CE=29v/3m y

CG=87V3m Ls
Distance travelled by balloon = 58 /3 m _:.‘..- o |

N e

40.

(i)
Let the criginal speed of the train be x km/h.
~ 360/ - 360/ x+5 =1
=x*+5x-1800=0
=x =(-45), 40
But since speed cannot be in negative.
~ % =40 km/hr.
OR

(ii) Let the larger and smaller number be x and y respectively.

Yo
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According to the given question,
X' -y =180 and y* =8x
= x' —8x =180
=¥=18, -10
x =18 '
Ay'=Bx=Bx18=144
_:sy_iq"]__fM__'IE

» smaller number =112
Therefore, the numbers are 18 and 12 or 18 and —12

Yo
Yo
Yo
Yo

Yo

SET- B:
23. a=-62, d=3, a11=-32
25, TSA = 1400 sq. units
30. | =15.7 cm,
ar(sector) = 78.5 cm?
39. H=40m
Distance between the building and lamp post = 34.64 m
SET -C:
23. LSA =200 cm?
32. n=14
X =40
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